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Addition /Subtraction of three numbers up to 12 #8

345+46=
T —T+T7=
—846—7=
5—3411=

—11-3-2=
—8—11+5=
—5—3+0=
—114+642=
0—12—12 =
—94+ 746 =
—124+8—-8=
2—-5—6=

0+0—12 =

T—1247=

8—11—-1=
14+1—3=

8+6—11=

—10—4—1=
—3—T+5=
—104+6—3=
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1 —2+43=
6+1—7=
—14+146=
0+12—2=
8+5+6=
—4 4245 =
—4—0—6=
10—0+3=
2+4+9—6=
A+11+1=
114+2+9=
—54540=
64+7+1=
—14+9—11=
T+3—-0=
6+8—1=
—9—4+1=
—8—4+10=
—4—6-9=
2 1+7=



Addition /Subtraction of three numbers up to 12 #8 (Solutions)
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3+5+6=14

7 —=T+7T=-=7
—84+6—-7=-9
5—3+11=13
—11-3-2=-16
—8—-11+5=-14
—5—3+0=-8
—11+6+2=-3
0—-12—-12=-24
—9+7+6=4
—124+8—-8=—-12
2—5—-6=-9
9+0—-12= -3
T=124+7=2
—8—-11-1=-20
I1+1-3=-1
8+6—-11=3
—10—-4—-1=-15
—3—-7+5=-5
—10+6—-3=-7
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1-2+3=2
6+1—-7=0
—1+1+6=6
9+12-2=19
8+5+6=19
—4+2+5=3
—4—-0—-06=-10
10-0+3=13
24+9—-06=5
4+11+1=16
11+2+9 =22
—0+5+0=0
6+7+1=14
—14+9—-11=-3
7T+3—-0=10
6+8—1=13
—9—-4+1=-12
—8—4+10= -2
—4—-6—-9=-19
—2—-1+7=4



